Consider the sequence with @5 =17 and @, = 3, and where each term is the previous term plus a fixed constant. SCORE: /7 PTS
[a] Find the general formula for this sequence. " -
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[b] Use the general fonnula to find the 21* term of the sequence.
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[c] Find the sum of the first 21 terms of the sequence. You must show the use of a series formula,
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Write the sgries — — — + — — — 4+ —— — —— in sigma notation. SCORE: __ /4PT
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Simplify the factorial expression SCORE: /3 PTS




X =sint x=g
Describe how the curves represented by the parametric equations . and differ. SCORE: /3 PTS
y=4-—sint y=4-¢'
NOTE: Both sets of equations correspond to the rectangular equation y = 4 — x shown,
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Find the sum Z (=1)"(20 = n?). You must show the terms being added. SCORE: /3 PTS
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Find the general formula for the sequence 64, 96, 144, 216, 324, .-, SCORE: /3 PTS
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Find parametric equations for the hyperbola with vertices (3, 0) and foci (£7, 0). SCORE: /4 PTS
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Eliminate the parameter and write the rectangular equation for the curve represented by the parametric

SCORE: /3 PTS
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equations 3 Write your final answer as y in terms of x.
y=25 -y
. . ) T

gr=4t = t=17 e @)

L_:;_u_-,«__,_:.& N

= - ¥
L 3 (e




